



[bookmark: _GoBack]To what extent has Prime Ministerial power grown in recent years? (40)

The Prime minister has gained a substantial amount of power whether it’s due to the demise of Unions (Thatcher) or that the fundamental idea of a ‘Cabinet Government’ losing its authority in Parliament causing the scales of power to be heavier on the PM. 
There is notable difference in the balance of powers between the PM and the Cabinet over the years.  That of which, the Cabinet is declining in its importance.  The Cabinets main purpose is to represent the collective identity of the government and all important domestic and foreign policy were made within the Cabinet. For this to happen, the PM and Cabinet were to attend private meetings. However the frequency of these meetings has declined over the years. From 100 to 45 per annum and only lasting an average of 45 minutes we see the possibility of not being able to cover all material that needs to be addressed and could even potentially just disregard issues that may not be on their priority list. This has showed the PM has gained more power as the Cabinet is not to be seen to be the ‘Cabinet government’ it once was. Allowing the PM to be a more powerful figure as he has the ability to call forth and reshuffle Cabinet as he/she wishes. 
Following on to this, there has been many dominant PM’s since the 1960’s. We have Thatcher, who made her to be that of an ‘outsider’ in Parliament so she could act independently on her own accord. She commanded and got, great public support and often appealed to the people above their own party leadership. We see this when she by-passed her Chancellor of the Exchequer, Nigel Lawson, who later resigned in 1989. Indicating that power had grown as she was able to shape Cabinet to suit her and support the same political views.
We also see this in the case of Blair. Even though Thatcher was seen to be more dominant, he brought a more ‘presidential style’ to government. Blair took a close interest in worldly environmental issues. Such as the NI problem, which he was able to agree on a final settlement and was seen to become a major international salesman. Thus, he held great power in the sense he was not only able to capture the attention of the Brits, but also those on an international scale, allowing him to become more dominant. 

The power of the PM has also grown due to it having numerous sources of power. The Office stands at a junction of different sources of authority. Parliament it’s self being one of them, as long as he enjoys the support of the majority in the HoC, he can claim parliamentary authority. This speaks to all those that have become PM over the years. (Though the authority of Brown and Cameron can be questioned) As the PM has different sources of power, he/she is then able to justify why he/she has proposed legislation and is able to enjoy more branches of authority due them. 






However, on the opposite side, the importance of Cabinet and its remaining power has slowly eroded. Parliament needs to legitimise all proposed legislation and for that to be official, the Cabinet needs to approve of it, which is necessary for the effective working of government. Therefore we see that prime ministerial power has eroded as it is up to the Cabinet to make the ultimate decision to pass legislation. Even though we see that the Cabinet coincide with the PM of the day. They may disagree in private, although in recent light, the issue of the EU has caused the party of the day, the Conservatives, to openly split, which is going to make it harder for the PM to pass legislation as he wishes. 

Under the Coalition, it is very similar to that of a single party. Though they are more sensitive and have to tread carefully as they have to cater towards both parties which can result to many compromises. As we saw in spring 2012, with the Budget. The Stamp Duty Act meant that tax was increased by 7% for those houses that are worth over £2 million. All the members defended it even though they privately disagreed. It caused conflict so much so that the PM had to take control with the mind-set that there will be a large difference of opinions between the Conservatives and the Lib Dems and have to balance out the power. Here we see the PM power to be weak, as it could be seen that there was a clear struggle between the powers of who finalises legislation. Here we see the power being deferred to the Cabinet once again. 

Finally, the personality and the style of the PM influences the manner to which power is brought upon them. However this all depends on their majority in Parliament. If they have a small majority then they will find it harder to pass legislation. We see that Blair and Thatcher had a large majority in Parliament therefore they were able to be charismatic when addressing the public as they had the full support of Parliament. Showing they had the power to do as they pleased. Nevertheless we do not see this to be the case of Cameron, as he was first with the Coalition and then only scraping a small majority in the second term. So in reality he may seem to be of a charismatic figure to the public, but he does no660
t have that much power, even though he has a majority it is small and whatever is proposed tends to get more resistance. 

To conclude, the power and influence comes down to the scale of their majority in Parliament. Where ever their power comes from. At the root of it all, it depends on the size of majority they have in the Commons. If they have a large majority, they can be seen to be more powerful as legislation can be passed with ease. Whereas if they have a small majority, they will struggle to get anything done as what they attempt will get more resistance from the opposition. 







